TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL E	DUDDEN		1148450 10, 201	
						ANNUALE	DURDEN			
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	Confidential Background Questionnaire/Statement									
905.23	905 - Citrus Grown in Florida Confidential Background Statement for Administrative Committee	FV-163	34	1.0000	34.00	0.0830	2.82	0	0.000	0.00
905.23	905 - Citrus Grown in Florida Confidential Background Statement for Administrative Committee Public Member	FV-164	2	1.0000	2.00	0.0830	0.17	0	0.000	0.00
606.23	906 - Texas Citrus	FV-82	30	0.3300	10.00	0.0830	0.83	0	0.000	
915.23	915 - Avocados	FV-97	18	1.0000	18.00	0.0830	1.49	0	0.000	0.00
915.23	915 - Avocados Public Member and Alternates	FV-97-1	2	1.0000	2.00	0.0830	0.17	0	0.000	0.00
920.25	920 - Kiwifruit Producer	FV-266	22	0.5000	11.00	0.0830	0.91	0	0.000	0.00
920.25	920 - Kiwifruit Public Member and Alternate	FV-266-1	2	0.5000	1.00	0.0830	0.08	0	0.000	0.00
922.21	922 - Apricots	FV-152	24	0.5000	12.00	0.0830	1.00	0	0.000	0.00
	SUBTOTA	L			90.00		7.47	0.00	0.00	0.00
	TOTAL OF ALL PAGE	S			26,364.96		7,804.86	406.00		486.40
TOTAL - COL	.UMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K	" = OMB 831, 13c			26,770.96		8,291.26	406.00		486.40

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL E	BURDEN			
IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
923.23	923 - Sweet Cherries	FV-23	32	0.5000	16.00	0.0830	1.33			0.00
925.22	925 - California Desert Grapes	FV-74	24	1.0000	24.00	0.0830	1.99			0.00
927.20 927.26	927 - Fresh Pear/Processed Pear Committee Member	FV-120	63	0.5000	31.50	0.0830	2.61			0.00
927.20 927.26	927 - Fresh Pear/Processed Pear Public Member	FV-129	6	0.5000	3.00	0.0830	0.25			0.00
929.20	929 - Cranberries Qualification Statement - Public Member/Alternate	FV-259	2	0.5000	1.00	0.0830	0.08			0.00
929.22	929 - Cranberries Qualification Statement - Grower Member	FV-260	13	0.5000	6.50	0.0830	0.54			0.00
929.22	929 - Cranberries Qualification Statement - Grower Alternate Member (same form as for Grower Member)	FV-260	9	0.5000	4.50	0.0830	0.37			0.00
7 CFR	Committee Ballots/Nominations									
915.22 915.115	915 - Avocados Committee Grower Registration Form	FV-208	10	1.0000	10.00	0.1670	1.67			0.00
915.22	915 - Avocados Handler Ballot to Nominate Members and Alternates (District 1 or District 2)	FV-266-11	352	1.0000	352.00	0.0830	29.22			0.00
	SUBTOTAL				448.50		38.07			972.80

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN		OF HOURS PER RECORDKEEP ERS ERS (COL.)		
IDENTIFICA	TION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS		
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	HOURS PER RECORDKEEP ER	TOTAL RECORD KEEPING HOURS (COL I X J) (K)	
915.22	915 - Avocados Grower Ballot to Nominate Members and Alternates (District 1 or District 2)	FV-266-10	32	1.0000	32.00	0.0830	2.66			0.00	
	915 - Avocados Proxy Authorization	FV-216	4	1.0000	4.00	0.1670	0.67			0.00	
920.122	920 - Kiwifruit Official Nomination Form	FV-266-2	195	1.0000	195.00	0.1670	32.57			0.00	
	920 - Kiwifruit Official Ballot	FV-266-3	195	1.0000	195.00	0.1670	32.57			0.00	
	929 - Cranberries Member and Alternate Member Nomination Form	FV-650	500	0.5000	250.00	0.0830	20.75			0.00	
	929 - Cranberries Member and Alternate Member Ballot	FV-651	500	0.5000	250.00	0.0830	20.75			0.00	
7 CFR	Letter of Acceptance										
	905 - Citrus Grown in Florida (No burden, only signature required)	None	36	1.0000	36.00		0.00			0.00	
	906 - Texas Citrus (No burden, only signature required)	None	30	0.3333	10.00		0.00			0.00	
	915 - Avocados (No burden, only signature required)	None	20	1.0000	20.00		0.00			0.00	
	SUBTOTAL				992.00		109.95			0.00	

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
922.25	922 - Apricots (No burden, only signature required)	None	24	0.5000	12.00		0.00			0.00
925.25	925 - California Desert Grapes (No burden, only signature required)	None	24	1.0000	24.00		0.00			0.00
	929 - Cranberries (No burden, only signature required)	None	16	0.5000	8.00		0.00			0.00
7 CFR	Marketing Agreement/Handler Agreement									
900.14	905 - Citrus Grown in Florida	FV-162	75	0.1667	12.50	0.0830	1.04			0.00
900.14	906 - Texas Citrus	FV-81	22	0.1667	3.67	0.0830	0.30			0.00
900.14	915 - Avocados	FV-96	0	0.1667	0.00	0.0830	0.00			0.00
900.14	920 - Kiwifruit	FV-71	24	0.1667	4.00	0.0830	0.33			0.00
900.14	922 - Apricots	FV-151	20	0.1667	3.33	0.0830	0.28			0.00
900.14	923 - Sweet Cherries	FV-21	56	0.1667	9.34	0.0830	0.77			0.00
	SUBTOTAL	_			76.84		2.73			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFICA .	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
900.14	925 - California Desert Grapes	FV-78	15	1.0000	15.00	0.0830	1.25			0.00
900.14	927 - Fresh Pears	FV-119	50	0.1667	8.34	0.0830	0.69			0.00
900.14	927 - Processed Pears	FV-130	50	0.1667	8.34	0.0830	0.69			0.00
900.14	929 - Cranberries	FV-263	50	0.1667	8.34	0.0830	0.69			0.00
7 CFR	Certificate of Resolution									
	905 - Florida Citrus Cooperative's Certified Resolution	FV-162A	21	0.1667	3.50	0.0830	0.29			0.00
900.14	922 - Apricots	FV-151A	20	0.1667	3.33	0.0830	0.28			0.00
900.14	923 - Sweet Cherries	FV-21A	56	0.1667	9.34	0.0830	0.77			0.00
900.14	927 - Fresh Pears	FV-119A	50	0.1667	8.34	0.0830	0.69			0.00
900.14	927 - Processed Pears	FV-130A	50	0.1667	8.34	0.0830	0.69			0.00
	SUBTOTAL				72.84		6.05			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	Producer Referendum									
	905 - Citrus Grown in Florida Official Producer Referendum Ballot	FV-160	8,000	0.1667	1,333.60	0.3300	440.09			0.00
905.83	905 - Citrus Grown in Florida Cooperative Association Producer Ballot	FV-161	21	0.1667	3.50	0.0300	0.11			0.00
900.14 906.55	906 - Texas Citrus	FV-83	183	0.1667	30.51	0.3300	10.07			0.00
900.14 915.64	915 - Avocados	FV-98	300	0.1667	50.01	0.3300	16.50			0.00
900.14 920.63(c)	920 - Kiwifruit	FV-70	195	0.1667	32.51	0.3300	10.73			0.00
900.14 920.63(c)	920 - Kiwifruit (Amendment)	FV-70-A	195	0.1667	32.51	0.3300	10.73			0.00
900.14 922.64	922 - Apricots Producer's Referendum Ballot (Amendment and Termination)	FV-150	90	0.1667	15.00	0.3300	4.95			0.00
900.14 922.64	922- Apricots Cooperative Association Referendum Ballot (Amendment and Termination)	FV-150A	4	0.1670	0.67	0.3300	0.22			0.00
022.64	922 - Apricots Cooperative Association Certificate of Resolution	FV-150B	4	0.1670	0.67	0.0830	0.06			0.00
	SUBTOTAL	L			1,498.97		493.44			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN		RECORDS				
IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS				
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C.)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)			
900.14 923.64	923 - Sweet Cherries	FV-22	1,500	0.1670	250.50	0.3300	82.67			0.00			
900.14 923.64	923 - Sweet Cherries Cooperative Association Referendum Ballot (Amendment and Termination)	FV-22A	6	0.1670	1.00	0.3300	0.33			0.00			
900.14 923.64	923 - Sweet Cherries Cooperative Association Certificate of Resolution	FV-22B	6	0.1670	1.00	0.0830	0.08			0.00			
900.14 925.63	925 - California Desert Grapes	FV-77	50	0.1667	8.34	0.3300	2.75			0.00			
900.14 927.78	927 - Fresh Pears Producer's Referendum Ballot	FV-118	1,800	0.1667	300.06	0.3300	99.02			0.00			
900.14 927.78	927 - Fresh Pears Cooperative Association Referendum Ballot	FV-118A	10	0.1667	1.67	0.3300	0.55			0.00			
900.14 927.78	927 - Fresh Pears Cooperative Association Certificate of Resolution	FV-118B	10	0.1667	1.67	0.0830	0.14			0.00			
900.14 927.78	927 - Processed Pear Producers' Referendum Ballot	FV-128	1,800	0.1667	300.06	0.3300	99.02			0.00			
900.14 927.78	927 - Processed Pear Cooperative Association Referendum Ballot	FV-128A	10	0.1667	1.67	0.3300	0.55			0.00			
	927 - Processed Pear Cooperative Association Certificate of Resolution	FV-128B	10	0.1667	1.67	0.0830	0.14			0.00			
	SUBTOTAL				867.63		285.25			0.00			

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
929.69	929 - Cranberries Continuance Referendum Ballot	FV-53	1,250	0.2500	312.50	0.3300	103.13			0.00
900.403	929 - Cranberries Amendatory Grower Referendum Ballot	FV-288	1,250	0.1666	208.25	0.3300	68.72			0.00
900.403	929 - Cranberries Amendatory Processor Referendum Ballot	FV-287	28	0.1666	4.66	0.3300	1.54			0.00
900.403	929 - Cranberries Certificate of Resolution and Amendatory Co-op Referendum Ballot	FV-286	1	0.1666	0.17	0.3300	0.05			0.00
7 CFR	Certificate of Privilege									
905.147	905 - Florida Citrus Application for a Repacking Certificate of Privilege	CAC 100	10	1.0000	10.00	0.0830	0.83			0.00
905.147	905 - Florida Citrus Application for Certificate of Privilege by Special Purpose Shipper	CAC 200	8	12.0000	96.00	0.0830	7.97			0.00
905.148	905 - Florida Citrus Report of Shipments Under Certificate of Privilege (Repacking)	CAC 110	10	50.0000	500.00	0.1200	60.00			0.00
906.120(d)	906 - Texas Citrus	None	14	1.0000	14.00	0.0830	1.16			0.00
	SUBTOTAL				1,145.58		243.40			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
923.54 923.322	923 - Sweet Cherries Shippers/Receivers Application for Shipment Certificates	None	6	1.0000	6.00	0.3300	1.98			0.00
7 CFR	Special Purpose Shipment									
905.147	905 - Citrus Grown in Florida Report of Special Purpose Shipment Certified Organic Citrus	CAC 201	4	1.0000	4.00	0.0830	0.33			0.00
915.55 915.140	915 - Avocados Report of Special Purpose Shipment	FV-212	2	3.0000	6.00	0.1000	0.60			0.00
923.54 923.322	923 - Sweet Cherries Special Purpose Shipment Report	None	6	10.0000	60.00	0.0830	4.98			0.00
7 CFR	Application for Registered Handler									
915.50(c) 915.120	915 - Avocados	FV-209	2	1.0000	2.00	0.2500	0.50			0.00
7 CFR	Application for Registered Processor									
915.50(c) 915.141(b)	915 - Avocados	FV-217	1	1.0000	1.00	0.0830	0.08			0.00
	SUBTOTAL				79.00		8.48			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

					1	ANNUAL I	RUDDEN		1148400 10, 201	
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS	7HVIVO7IL I	JORDEN			
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	Recordkeeping									
905.148	905 - Citrus Grown in Florida	None			0.00		0.00	75	5.000	375.00
906.51(c)	906 - Texas Citrus	None			0.00		0.00	22	0.100	2.20
915.50	915 - Avocados	None			0.00		0.00	35	0.350	12.25
920.60(c)	920 - Kiwifruit	None			0.00		0.00	24	0.550	13.20
922.60	922 - Apricots	None			0.00		0.00	22	0.420	9.24
923.60	923 - Sweet Cherries	None			0.00		0.00	53	0.420	22.26
925.60(a), (b), (c	e) 925 - California Desert Grapes	None			0.00		0.00			0.00
927.70	927 - Fresh Pears	None			0.00		0.00	50	0.500	25.00
927.70	927 - Processed Pears	None			0.00		0.00	75	0.350	26.25
929.63	929 - Cranberries	None			0.00		0.00	50	0.020	1.00
	SUBTOTAL				0.00		0.00	406.00	7.71	486.40

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN			
IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	Application for Producer Exemption Certificate									
915.53	915 - Avocados Producer Exemption	FV-210	5	1.0000	5.00	0.1670	0.84			0.00
915.110	915 - Avocados Certificate of Exemption	FV-210-1	5	1.0000	5.00	0.0830	0.42			0.00
7 CFR	Packout Report									
927.70 927.125	927 - Fresh Pears Handler's Packout Report	None	50	38.0000	1,900.00	0.7500	1,425.00			0.00
927.70 927.125	927 - Fresh Pears Organic Handler's Packout Report	None	10	7.0000	70.00	0.7500	52.50			0.00
7 CFR	905 - Citrus Grown in Florida									
905.50	Florida Citrus Crop Prospects	None	82	1.0000	82.00	0.0830	6.81			0.00
905.153	Handler Loan and Transfer Form	CAC 301	40	4.0000	160.00	0.0830	13.28			0.00
905.153	Report of Red Grapefruit Shipments by Day Regulation Week	CAC 302	75	77.0000	5,775.00	0.0830	479.33			0.00
	SUBTOTAL	L			7,997.00		1,978.16			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

						ANNUAL I	BURDEN		•	
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
905.153	New Handler Application	CAC 303	1	0.5000	0.50	0.0830	0.04			0.00
905.149	Grower Tree Run Certificate Application	CAC 401	45	1.0000	45.00	0.0830	3.74			0.00
905.149	Report of Shipments Under Grower Tree Run Certificate	CAC 402	45	3.0000	135.00	0.0830	11.21			0.00
905.71	Handler Supplier Report (merged from 0581-0284)	None	45	1.0000	45.00	0.3300	14.85			
7 CFR	906 - Texas Citrus									
906.51	Diversion Report	None	14	20.0000	280.00	0.0830	23.24			0.00
906.51	Handler Application	None	22	0.0500	1.10	0.0830	0.09			0.00
906.51(a)	Confidential Citrus Crop Questionnaire	None	183	1.0000	183.00	0.4170	76.31			0.00
906.51(b), 906.151(a), (b), (c)	Seller/Buyer Certificate	None	28	60.0000	1,680.00	0.0830	139.44			0.00
906.123(b)	Application & Certification Citrus By-Products Purchase Agreement	None	19	1.0000	19.00	0.3300	6.27			0.00
906.123(b)	Information Data Sheet on Citrus Processor	None	19	1.0000	19.00	0.0830	1.58			0.00
	SUBTOTAL				2,407.60		276.76			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

		ANNUAL BURDEN									
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			REPORTS					RECORDS			
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)	
7 CFR	915 - Avocados										
915.60 915.150(a), (b)	Avocado Handler's Weekly Report Form (reporting requirement suspended)	FV-215	0	0.0000	0.00	0.0000	0.00			0.00	
7 CFR	920 - Kiwifruit										
920.110	Application for Inspection (Waiver Form)	FV-266-12	24	1.0000	24.00	0.1000	2.40			0.00	
920.160(a)	Shipment Report	FV-266-9	24	8.0000	192.00	0.5000	96.00			0.00	
920.160(b)	Kiwifruit Inventory Shipment System (add, deduct, and shipment forms)	FV-266-13	24	12.0000	288.00	0.5000	144.00			0.00	
920.160(c)	Return Receipt of Kiwifruit to Growers	FV-266-5	5	5.0000	25.00	0.0830	2.08			0.00	
920.160(d)	KISS Price/Shipment Report (Paper version and electronic version; electronic burden included in overall burden)	FV-266-6	15	28.0000	420.00	1.0000	420.00			0.00	
920.160	End-Of-Season F.O.B. Sales Report	FV-266-7	27	1.0000	27.00	0.7500	20.25			0.00	
920.160	Final Packout Report	FV-266-8	27	1.0000	27.00	0.7500	20.25			0.00	
920.303	Kiwifruit Restyle Verification Form	FV-266-4	24	150.0000	3,600.00	0.2500	900.00			0.00	
	SUBTOTAL				4,603.00		1,604.98			0.00	

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

			ANNUAL BURDEN							
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			REPORTS					RECORDS		
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	922 - Apricots									
922.55 922.111	Application for Waiver of Inspection at Time of Shipment	None	1	1.0000	1.00	0.0830	0.08			0.00
922.55 922.111	Waiver of Inspection Permit	None	1	5.0000	5.00	0.0830	0.42			0.00
7 CFR	925 - California Desert Grapes									0.00
925.50	Grape Acreage Report	CDGAC-7	50	1.0000	50.00	0.5000	25.00			0.00
925.54 925.304(c)	Organically Grown Grapes	CDGAC-1	6	1.0000	6.00	0.1600	0.96			0.00
925.54	Experimental Containers	CDGAC-5	1	1.0000	1.00	0.1600	0.16			0.00
925.160	End of Season Shipment Report	CDGAC-3	15	1.0000	15.00	0.5000	7.50			0.00
7 CFR	927 - Pears Grown in Oregon and Washington (Fresh Pears)									
927.70 927.125	Handler Statement of Fresh Pear Shipments	None	50	25.0000	1,250.00	0.7500	937.50			0.00
927.70 927.125	Pear Size and Grade Storage Report	None	50	5.0000	250.00	1.0000	250.00			0.00
	SUBTOTA	L			1,578.00		1,221.62			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

			ANNUAL BURDEN							
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			REPORTS					RECORDS		
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
7 CFR	927 - Pears Grown in Oregon and Washington (Processed Pears)									
927.70 927.125	Assessment Report	None	75	1.0000	75.00	0.7500	56.25			0.00
7 CFR	929 - Cranberries									
929.62	Grower Sales and Acreage Report	CMC GSAR-1	1,250	1.0000	1,250.00	0.3300	412.50			0.00
929.49 929.50	Leased Acreage Form	CMC L1	25	1.0000	25.00	0.3300	8.25			0.00
929.50 929.110	Cranberry Acreage & Sales History Transfer Form (Seller)	CMC Trf-20XX- 20XX	50	1.0000	50.00	0.2000	10.00			0.00
929.50 929.110	Cranberry Acreage & Sales History Transfer Form (Buyer)	CMC Trf-20XX- 20XX	50	1.0000	50.00	0.2000	10.00			0.00
929.55	Interhandler Transfer Form	1HTR	50	4.0000	200.00	0.3300	66.00			0.00
929.62	Grower Acquisition Listing	CMC GAL	50	1.0000	50.00	0.3300	16.50			0.00
929.62 929.105	Handler Inventory Report	HIR	50	4.0000	200.00	0.3300	66.00			0.00
	SUBTOTAL				1,900.00		645.50			0.00

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0581-0189

Marketing Order and Agreement Division Generic OMB Fruit Crops

		August 18, 2013								
			ANI				BURDEN			
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					REPORTS	RECORDS				
SECTION OF REGS. (A)	DESCRIPTION (B)	FORM NOS. (If "none" so state) (C)	NO. OF RESPONDE NTS (D)	NO. OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (COL. D X E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (COL. F X G) (H)	NO. OF RECORD KEEPERS (I)	ANNUAL HOURS PER RECORDKEEP ER (J)	TOTAL RECORD KEEPING HOURS (COL I X J) (K)
929.62 929.105	Processor Inventory Report	PIR	12	4.0000	48.00	1.0000	48.00			0.00
929.49(d)	Growers Notice of Intent to Produce and Qualifying for Annual Allotment Form	CMC AL 1	1,250	1.0000	1,250.00	0.3300	412.50			0.00
929.151(c)	Allotment Transfer and Disposition Agreement	CMC T7	1,250	1.0000	1,250.00	0.3300	412.50			0.00
929.66	Letter of Acknowledgement	None	60	1.0000	60.00	0.1670	10.02			
	SUBTOTAL				2,608.00		883.02			0.00